
STAT 535 Test 1 Formulas

For events A and B:

P (B|A) = P (A ∩B)

P (A)
=

P (B)L(B|A)
P (A)

where L(B|A) = P (A|B) and L(Bc|A) = P (A|Bc), and

P (A) = P (B)L(B|A) + P (Bc)L(Bc|A)

For random variable (or vector) y and parameter θ:

f(θ|y) = f(θ)L(θ|y)
f(y)

∝ f(θ)L(θ|y).

f(y|π) =
(
n
y

)
πy(1− π)n−y for y ∈ {0, 1, 2, . . . , n}

f(π) =
Γ(α + β)

Γ(α)Γ(β)
πα−1(1− π)β−1 for π ∈ [0, 1]

f(y|λ) = λye−λ

y!
for y ∈ {0, 1, 2, . . .}

f(λ) =
rs

Γ(s)
λs−1e−rλ for λ > 0.

f(y) =
1√
2πσ2

exp

[
−(y − µ)2

2σ2

]
for y ∈ (−∞,∞)

f(µ) =
1√
2πτ 2

exp

[
−(µ− θ)2

2τ 2

]
for µ ∈ (−∞,∞).
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